Potencias de 10 (A)

210

100+ 1000

42 +-1000

13 +1000

100+ 1000

8-+-10

83+10

15100

19 =-1000

341000

Calcule los siguientes cocientes.

6010

84 = 1000

14+10

171000

24 =100

64 <1000

31100

610

28 +-1000

71100
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Potencias de 10 (A) Respuestas

2+10
0.2
100 = 1000
0.1
42 <1000
0.042
131000
0.013
100 = 1000
0.1
8+ 10
0.8
8310
8.3
15+100
0.15
191000
0.019
34+ 1000
0.034

Calcule los siguientes cocientes.

60+ 10
6
84 1000
0.084
1410
1.4
17+ 1000
0.017
24 +100
0.24
64 = 1000
0.064
31100
0.31
610
0.6
28 + 1000
0.028
71 +100
0.71
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